

NAME = T. ASIF-UZZAH KHAN

I.D. = 15391

SEMESTER = B.S (C.S)

3RD SEMESTER

SIR LATIF JAN

DATE = 14 JUNE 2020

①

Question 1:
Use any of methods for solving the ordinary Differential equation. As given below:

Solve and graph the solution. Show the details of your work.

$$x^2 y'' - 4xy' + 6y = 0 \quad y(1) = 0.4, \quad y'(1) = 0$$

Solution -

$$x^2 y'' - 4xy' + 6y = 0 \quad \text{--- (1)}$$

$$\text{Let } y = x^m$$

$$y' = m x^{m-1}$$

$$y'' = m(m-1)x^{m-2}$$

Put $y'' = m(m-1)x^{m-2}$ in eqn (1)

$$x^2 m(m-1)x^{m-2} - 4x m x^{m-1} + 6x^m = 0$$

$$x^2 m(m-1)x^{m-2} - 4x^2 m x^{m-2} + 6x^m = 0$$

$$+ 6x^m = 0$$

$$x^m [m(m-1) - 4m + 6] = 0$$

$$\Rightarrow m(m-1) - 4m + 6 = 0$$

$$m^2 - 5m + 6 = 0$$

$$m^2 - 5m + 6$$

$$m = \frac{5 \pm \sqrt{(-5)^2 + 4(6)}}{2 \cdot 1}$$

(1)

$$y_1 = x^3, \quad y_2 = x^2$$

$$y = C_1 y_1 + C_2 y_2$$

$$y = C_1 x^3 + C_2 x^2$$

$$y' = 3C_1 x^2 + 2C_2 x$$

putting values of y and y'

$$\Rightarrow 0.4 = C_1 \cdot 1^3 + C_2 \cdot 1^2$$

$$0 = 3C_1 \cdot 1^3 + 2C_2 \cdot 1^2$$

$$\Rightarrow 0.4 = C_1 + C_2$$

$$0 = 3C_1 + 2C_2$$

$$\Rightarrow 0.4 - C_2 = C_1$$

$$0 = 3(0.4 - C_2) + 2C_2$$

$$\Rightarrow 0.4 - C_2 = C_1$$

$$1 \cdot 2 = C_2$$

(3)

$$\Rightarrow 0.4 - 1.2 = C_1$$

$$C_2 = 1.2$$

$$C_1 = -0.8$$

$$C_2 = 1.2$$

$$y = (-0.8x^3) + 1.2x^2 \quad \text{A}$$

Question 13

$$x^2 y'' + 3xy' + 0.75y = 0$$

$$y(1) = 1, \quad y'(1) = 1.5$$

Solution:-

$$x^2 y'' + 3xy' + 0.75y = 0 \quad (1)$$

$$y = x^m$$

$$y' = m x^{m-1}$$

$$y'' = (m-1)x^{m-2}$$

$$x^2 (m-1)x^{m-2} + 3x \cdot m x^{m-1} + 0.75x^m = 0$$

$$x^m = 0$$

$$\Rightarrow x^m (m-1) + 3m x^m + 0.75x^m = 0$$

$$x^m \cdot (m-1) + 3m + 0.75 = 0$$

$$\Rightarrow x^m [(m-1) + 3m + 0.75] = 0$$

(45)

$$x^2 + 2x + 0.75 = 0$$

$$x_{1/2} = \frac{-2 \pm \sqrt{2^2 - 4(0.75)}}{2}$$

$$x_{1/2} = \frac{-2 \pm 1}{2}$$

$$x_1 = \frac{-2+1}{2}, \quad x_2 = \frac{-2-1}{2}$$

$$x_1 = \frac{-1}{2}, \quad x_2 = \frac{-3}{2}$$

$$y = C_1 y_1 + C_2 y_2$$

$$y = C_1 x^{0.5} + C_2 x^{-1.5}$$

$$y' = 0.5 C_1 x^{-1.5} - 1.5 C_2 x^{-2.5}$$

$$y(1) = 1 = C_1 \cdot 1^{-0.5} + C_2 \cdot 1^{-1.5}$$

$$1.5 = y'(1) = 0.5 C_1 \cdot 1^{-1.5} - 1.5 C_2 \cdot 1^{-2.5}$$

$$\Rightarrow 1 = C_1 + C_2$$

$$1.5 = 0.5 C_1 - 1.5 C_2$$

$$\Rightarrow 1 = C_1 + C_2$$

$$3 = C_1 + 3C_2$$

(5)

$$\Rightarrow \begin{aligned} 1 - c_2 &= c_1 \\ 3 &= 1 - c_2 + 3c_2 \end{aligned}$$

$$\Rightarrow \begin{aligned} 1 - c_2 &= c_1 \\ 2 &= 2c_2 \end{aligned}$$

$$\Rightarrow \begin{aligned} 1 - c_2 &= c_1 \\ 1 &= c_2 \\ 0 &= c_1 \\ 1 &= c_2 \\ c_1 &= 0 \\ c_2 &= 1 \end{aligned}$$

$$y^2 = x^{-1.5}$$

Question 14

$$x^2 y'' + xy' + y = 0$$

$$y(1) = 0, \quad y'(1) = 2.5$$

Solution:-

$$x^2 y'' + xy' + y = 0$$

$$x = r$$

$$y = r^m$$

$$y' = m r^{m-1}$$

$$y'' = m(m-1) r^{m-2}$$

$$0 = x^2 y'' + xy' + y = m(m-1)x^m + m x^m + x^m = 0$$

(6)

$$-(r-1) + r + 9 = 0$$

$$r^2 - r + r + 9 = 0$$

$$r^2 + 9 = 0$$

$$r^2 - (3i)^2 = 0$$

$$(r - 3i)(r + 3i) = 0$$

$$r_1 = 3i \quad \wedge \quad r_2 = -3i$$

∴ A.S values

$$x^1 = x^{3i} = (e^{\ln x})^{3i} = e^{3i \ln x}$$

$$x^2 = x^{-3i} = (e^{\ln x})^{-3i} = e^{-3i \ln x}$$

$$e^{a+ib} = e^a (\cos b + i \sin b)$$

$$\Rightarrow e^{3i \ln x} = e^0 (\cos(3 \ln x) + i \sin(3 \ln x))$$

$$\Rightarrow \cos(3 \ln x) + i \sin(3 \ln x)$$

$$\Rightarrow e^{-3i \ln x} = e^0 (\cos(3 \ln x) - i \sin(3 \ln x))$$
$$= \cos(3 \ln x) - i \sin(3 \ln x)$$

$$x^1 = \cos(3 \ln x) + i \sin(3 \ln x)$$

$$x^2 = \cos(3 \ln x) - i \sin(3 \ln x)$$

By Addition

$$x^1 - x^2 = \cos(3 \ln x) + i \sin(3 \ln x) -$$
$$\cos(3 \ln x) + i \sin 3 \ln x$$

$$\frac{x^1 - x^2}{2i} = \frac{2i \sin(3 \ln x)}{2i}$$

$$= \sin 3 \ln x$$

(7)

Solution - will be 2

$$y_1 = \cos(3lnx) + y_2 = \sin(3lnx)$$

$$y = C_1 \cos(3lnx) + C_2 \sin(3lnx)$$

$$y_1 = C_1 \cos(3lnx) + C_2 \sin(3lnx) = 0$$

$$\Rightarrow C_1 = 0$$

$$y'(1) = -3C_1 \sin(3ln(1)) + 3C_2 \cos(3ln(1))$$

$$= \frac{3(2.5)}{1}$$

$$= 2.5$$

$$C_1 = 0$$

$$C_2 = \frac{5}{6}$$

$$y = \frac{5}{6} \sin(3lnx)$$

Question 15

$$x^2 y'' + 3xy' + y = 0$$

$$y(1) = 3 \quad , \quad y'(1) = 0$$

Solution -

$$x^2 y'' - 3xy' + y = 0$$

$$y = x^m$$

$$y' = m x^{m-1}$$

$$y'' = m(m-1) x^{m-2}$$

(3)

$$\Rightarrow x^2 - (-1)x - x^2 + 3x - x + x = 0$$

$$\Rightarrow (-1) + 3 - 1 = 0$$

$$x^2 + 2x + 1 = 0$$

$$x^2 + 2x + 1 = 0$$

$$(x+1)^2 = 0$$

$$x = -1$$

$$y_1 = x^{-1} = \frac{1}{x}$$

$$y'' + \frac{3}{x} \cdot y' + \frac{1}{x^2} \cdot y = 0$$

$$P(x) = 3 \frac{1}{x} \Rightarrow \int P dx = 3 \ln x$$

$$y_2 = v y_1$$

$$v = \int v dx \quad \wedge \quad v = \frac{1}{2} e^{-\int P dx}$$

$$e^{-3 \ln x} = (e^{\ln x})^{-3} = x^{-3}$$

$$v = x^{-3} \cdot \frac{1}{x^2} = x^{-3+2} = x^{-1} = \frac{1}{x}$$

By integration

$$v = \int \frac{dx}{x} = \ln x$$

$$y_2 = v y_1 = y_1 \ln x = \frac{1}{x} \cdot \ln x$$

(9)

Sum - C

$$y = c_1 y_1 + c_2 y_2$$

$$\Rightarrow c_1 \frac{1}{x} + c_2 \frac{1}{x} \ln x$$

$$\Rightarrow \frac{1}{x} (c_1 + c_2 \ln x)$$

$$\Rightarrow y' = (x^{-1})'(c_1 + c_2 \ln x) + x^{-1} (c_1 + c_2 \ln x)'$$

$$\Rightarrow -x^{-2} (c_1 + c_2 \ln x) + \frac{1}{x} c_2 \cdot \frac{1}{x}$$

$$\Rightarrow \frac{1}{x^2} (c_1 + c_2 \ln x + \frac{1}{x} c_2 \cdot \frac{1}{x})$$

$$\Rightarrow \frac{1}{x} (-c_1 - c_2 \ln x + c_2)$$

Values of 'C'

$$3.6 = y(1) = \frac{1}{1} (c_1 + c_2 \ln 1)$$

$$0.4 = y'(1) = \frac{1}{1^2} (-c_1 - c_2 \ln 1 + c_2)$$

$$3.6 = c_1$$

$$0.4 = c_1 + c_2$$

$$3.6 = c_1$$

$$0.4 = -3.6 + c_2$$

$$3.6 = c_1$$

$$4.0 = c_2$$

$$y = (3 \ln x + c) \cdot \frac{1}{x}$$

Equation 16

$$(x^2 D^2 - 3xD + 4I)y = 0$$

$$y(1) = -\pi, \quad y'(1) = 2\pi$$

Solution -

$$(x^2 D^2 - 3xD + 4I)y = 0$$

$$x^2 D^2 y - 3x D y + 4y = 0$$

$$x = r$$

$$r(r-1) = 1$$

$$r^2 - r - 1 = 0$$

$$x^2 (r^2 - r - 1) x^{r-2} - 3x r x^{r-2} + 4x^r = 0$$

$$x^2 (r^2 - r - 1) x^{r-2} - 3r x^{r-1} + 4x^r = 0$$

$$\Rightarrow (r^2 - r - 1) - 3r + 4 = 0$$

$$\Rightarrow r^2 - 4r + 4 = 0$$

$$\Rightarrow (r-2)^2 = 0$$

$$r = 2$$

$$y_1 = x^2 = x^2$$

$$y'' = \frac{3}{x} y' + \frac{4}{x^2} y = 0$$

$$P(x) = -3 \cdot \frac{1}{x} \Rightarrow \int P dx = -3 \ln(x)$$

$$y^2 = \sqrt{y_1}$$

(11)

where

$$v = \int v dx, \quad v = \frac{1}{y^2} e^{-\int p dx}$$

$$e^{-\int p dx} = e^{-\int 2 \ln x dx} = (e^{\ln x})^2 = x^2$$

$$v = x^2 \frac{1}{(x^2)^2} = x^{2-4} = x^{-2} = \frac{1}{x^2}$$

$$v = \int \frac{dx}{x} = \ln |x|$$

$$y^2 = v y_1 = y_1 \ln x = x^2 \ln x$$

$$y = C_1 y_1 + C_2 y_2$$

$$= C_1 x^2 + x^2 \ln x$$

$$= x^2 (C_1 + C_2 \ln x)$$

Product Rule

$$y' = (x^2)' (C_1 + C_2 \ln x) + x^2 (C_1 + C_2 \ln x)'$$

$$= 2x (C_1 + C_2 \ln x) + C_2 x^2 \cdot \frac{1}{x}$$

$$= 2C_1 + 2C_2 x \ln x + C_2 x$$

$$= 2C_1 x + C_2 x (2 \ln x + 1)$$

Finding C

$$-\pi = y(1) = (1)^2 (C_1 + C_2 \ln 1)$$

$$2\pi = y'(1) = 2(C_1 + C_2 (2 \ln 1 + 1))$$

$$-\pi = C_1$$

$$2\pi = 2C_1 + C_2$$

$$-\pi = C_1$$

$$4\pi = C_2$$

$$y = x^2(-\pi + 4\pi - \pi) = \pi x^2$$

Question 17

$$(x^2 D^2 + xD + I)y = 0$$

$$y(1) = \Delta, \quad y'(1) = \Delta$$

Solution &

$$x^2 D^2 + xD + I y = 0$$

$$x^2 D(Dy) + xDy + y = 0$$

$$= yx'' + 2xy' + y = 0$$

Now

$$yx'' + 2xy' + y = 0$$

$$y = x^{\lambda}$$

$$y' = \lambda x^{\lambda-1}$$

$$y'' = \lambda(\lambda-1)x^{\lambda-2}$$

putting values

$$x^2 \lambda(\lambda-1)x^{\lambda-2} + 2x \lambda x^{\lambda-1} + x^{\lambda} = 0$$

$$x^{\lambda} = 0$$

$$x^2 \lambda(\lambda-1) + 2x \lambda + x = 0$$

$$x(\lambda-1) + \lambda + 1 = 0$$

$$\lambda(\lambda-1) + \lambda + 1 = 0$$

$$\lambda^2 + \lambda - \lambda + 1 = 0$$

$$\lambda^2 + 1 = 0$$

$$\lambda^2 + 2^0 = 0$$

$$(\lambda - i)(\lambda + i) = 0$$

$$\lambda_1 = i, \quad \lambda_2 = -i$$

(3)

$$x = e^{\ln x}$$
$$x^{-1} = x^i = (e^{\ln x})^i = e^{i \ln x}$$

$$e^z = e^{a+ib} = e^a (\cos b + i \sin b) \quad z \in \mathbb{C}$$

$$e^{i \ln x} = e^0 (\cos(\ln x) + i \sin(\ln x))$$

$$\Rightarrow \cos(\ln x) + i \sin(\ln x)$$

$$x^{-1} = \cos(\ln x) + i \sin(\ln x)$$

$$x^{-2} = \cos(\ln x) - i \sin(\ln x)$$

$$\frac{x^{-1} + x^{-2}}{2} = \frac{\cos(\ln x)}{2} =$$

$$\cos(\ln x)$$

$$x^{-1} + x^{-2} = \cos(\ln x) + i \sin(\ln x)$$

$$- \cos(\ln x) + i \sin(\ln x)$$

$$\Rightarrow 2i \sin(\ln x)$$

$$\frac{x^{-1} - x^{-2}}{2} = \sin(\ln x)$$

$$y = C_1 y_1 + C_2 y_2$$

$$\Rightarrow (C_1 \cos(\ln x) + 2i \sin(\ln x))$$

Using chain Rule

$$y' = -C_1 \sin(\ln x) \cdot (\ln x)' + C_2 \cos$$

$$(\ln x) \cdot (\ln x)'$$

$$= -\frac{C_1}{x} \sin(\ln x) + \frac{C_2}{x} \cos(\ln x)$$

(14)

Value of "C"

$$1 = y(1) = C_1 \cos(\ln x) + C_2 \sin(\ln x)$$

$$1 = y(1) = C_1 \cos(\ln 1) + 3C_2 \cos(\ln 1)$$

$$1 = C_1$$

$$1 = C_2$$

$$y = \sin(\ln x) + \cos(\ln x)$$

Question 18

$$(9x^2 D^2 + 3x D + 1)y = 0$$

$$y(1) = 1$$

$$y'(1) = 0$$

Solution:-

$$(9x^2 D^2 + 3x D + 1)y = 0$$

$$\Rightarrow 9x^2 y'' + 3x y' + y$$

$$y = x^m$$

$$y' = m x^{m-1}$$

$$y'' = (m-1) x^{m-2}$$

$$9x^2 (m-1) x^{m-2} + 3x m x^{m-1} + y$$

$$+ y = 0$$

$$9x^2 (m-1) x^{m-2} + 3x m x^{m-1} + x^m = 0$$

$$m x^m + x^m = 0$$

$$9m(m-1) + 3m + 1 = 0$$

$$9m^2 + 9m - 3m + 1 = 0$$

$$m^2 - 4m + 1 = 0$$

(15)

$$\begin{aligned} \left(\frac{1}{2} - 2\right)^2 &= 0 \\ \frac{1}{4} - 2 + 4 &= 0 \\ \frac{1}{4} - 2 + 4 &= 0 \\ \frac{1}{4} - 2 + 4 &= 0 \\ \frac{1}{4} - 2 + 4 &= 0 \\ \frac{1}{4} - 2 + 4 &= 0 \\ \frac{1}{4} - 2 + 4 &= 0 \\ \frac{1}{4} - 2 + 4 &= 0 \\ \frac{1}{4} - 2 + 4 &= 0 \\ \frac{1}{4} - 2 + 4 &= 0 \end{aligned}$$

$$\frac{1}{2} = \frac{1}{2}$$

$$\frac{1}{2} = \frac{1}{2}$$

$$y'' + \frac{1}{3} \cdot \frac{1}{x} \cdot y' + \frac{1}{9x^2} \cdot y = 0$$

$$P(x) = \frac{1}{3} \cdot \frac{1}{x} \Rightarrow \int P(x) = \frac{1}{3} \ln x$$

$$\text{put } y = C_1 y_1$$
$$v = \int v dx \quad v = \frac{1}{y_1^2} e^{-\int P(x)}$$

$$e^{-\int P(x)} = e^{-1/3 \ln|x|} = (e^{-\ln|x|})^{1/3} = x^{-1/3}$$

$$v = x^{-1/3} \cdot \frac{1}{(x^{-1/3})^2} = x^{-1/3 - 2/3} = x^{-1} = \frac{1}{x}$$

$$y = C_1 y_1 + C_2 y_2$$

$$y = C_1 x^{1/3} + x^{1/3} \ln x$$

$$y = x^{1/3} (C_1 + C_2 \ln x)$$

(16)

$$1 = y(1) = \frac{1}{3} (c_1 + c_2 \ln 1)$$

$$c = y'(1) = \frac{1}{2} (1^2 + 3c_1) (c_1 + c_2 \ln 1)$$

$$+ \frac{1}{3}$$

$$1 = c_1$$

$$0 = \frac{1}{3} + c_2$$

$$c_1 = 1$$

$$c_2 = -\frac{1}{3}$$

$$y = x^{1/3} \left(1 - \frac{1}{3} \ln x \right)$$

Question 19

$$(x^2 D^2 - xD - 15I) y = 0$$

$$y(1) = 0.1$$

$$y'(1) = -4.5$$

Solution:-

$$y = x^m$$

$$y' = m x^{m-1}$$

$$y'' = (m-1)m x^{m-2}$$

$$m^2 - 2m - 15 = 0$$

$$m = \frac{2 \pm \sqrt{(-2)^2 + 4(-15)}}{2}$$

$$m = \frac{2 + 2}{2}$$

(17)

$$r_1 = 5, \quad r_2 = -3$$

$$0.1 = y(1) = c_1 \Delta^5 + c_2 \Delta^{-3}$$

$$-4.5 = y'(1) = 5c_1 - 3c_2 = 2$$

$$0.1 = 5c_1 + c_2$$

$$-4.5 = 5c_1 - 3c_2$$

$$0.1 = c_2 = c_1$$

$$-4.5 = 5(0.1 - c_2) - 3c_2$$

$$\frac{-0.525}{0.625} = c_1$$

$$c_2$$

$$\Rightarrow y = -0.525(x^5 + 6.25x^2) + A$$

Question 2

$$x' = \sqrt{x}$$

Solution:

$$x' = \sqrt{x}$$

$$\Rightarrow \frac{dx}{dt} = \sqrt{x}$$

$$\Rightarrow \frac{dx}{\sqrt{x}} = 1 dt$$

$$\Rightarrow \frac{1}{\sqrt{x}} dx = dt$$

$$\int \frac{1}{\sqrt{x}} dx = \int dt$$

$$2\sqrt{x} + c_1 = t + c_2$$

$$2\sqrt{x} = t + c$$

(18)

$$y(x) = (t+c)^2$$

$$x = \frac{(t+c)^2}{2}$$

$$x' = e^{-2x}$$

Solution e-

$$x' = e^{-2x}$$

$$\frac{dx}{dt} = e^{-2x}$$

$$\frac{dx}{e^{-2x}} = dt$$

$$\int \frac{1}{e^{-2x}} dx = \int dt$$

$$\frac{e^{2x}}{2} = t+c$$

$$e^{2x} = 2(t+c)$$

$$e^{2x} = 2(t+c)$$

$$2x = \ln_2(2(t+c))$$

$$x = \frac{\ln_2(2(t+c))}{2}$$

(19)

$$y' = 1 + y^2$$

Solution -

$$\frac{dy}{dt} = 1 + y^2$$

$$\frac{dy}{1+y^2} = dt$$

$$\int \frac{1}{1+y^2} dt = \int dt$$

$$y = \tan^{-1}(t+c)$$

$$v' = \frac{1}{5-2v}$$

Solution -

$$\Rightarrow \frac{dv}{dt} = \frac{1}{5-2v}$$

$$\Rightarrow \frac{dv}{5-2v} = dt \quad (1)$$

$$\int \frac{dv}{5-2v} = \int dt$$

$$\Rightarrow -(v-5)v + c_1 = t + c_2$$

$$\Rightarrow -(v-5)v = t + c$$

$$\Rightarrow v(1) = \frac{t+c}{v(v-5)}$$

(20)

$$x' = a + bx, \quad a, b > 0$$

Solution:-

$$x' = \frac{0}{1+x^2}$$

$$\frac{dx}{dt} = \frac{0}{1+x^2}$$

$$x^2 dx = dt$$

$$\frac{x^3}{3} = \int dt$$

$$3 \ln(x) + \frac{x^3}{3} + C$$

$$x' = ex^2$$

Solution:-

$$\frac{dx}{dt} = ex^2$$

$$\frac{dx}{dt} = dt$$

$$\frac{dx}{ex^2} = dt$$

$$\int \frac{1}{ex^2} dx = \int dt$$

(21)

$$y' = r(a-y)$$

Solution:-

$$\frac{dy}{dt} = r(a-y)$$

$$\frac{dy}{r(a-y)} = dt$$

$$\int \frac{1}{r(a-y)} dy = \int dt$$

$$\frac{(a-y)^{-1}}{-1} = t + c$$

$$\Rightarrow \frac{1}{a-y} = r(t+c) \quad \underline{A}$$

Q2:- Solve $y' = r(a-y)$ where r and a are constants

Solution:-

$$\frac{dy}{dt} = r(a-y)$$

$$\frac{dy}{r(a-y)} = dt$$

$$\int \frac{1}{r(a-y)} dy = \int dt$$

$$a-y = k(r)^{1/2}$$

(22)

Q3 Solution e-

$$\text{put } x(0) = 1$$

$$x(t) = \frac{(t+c)^2}{4}$$

$$x(0) = 1 \quad x(t) = x(0) = 1$$

$$1 = \frac{(0+c)^2}{4}$$

$$\sqrt{c^2} = \sqrt{4}$$

$$c = 2$$

1) Solution e-

$$x(t) = \ln_2(t) + c$$

$$x(0) = 1$$

$$1 = \ln_2(0) + c$$

$$1 = \ln c$$

$$2 = \ln c^2$$

Question 4 (9)

$$x' = \frac{2x}{t+1}$$

(2-3)

$$\frac{dx}{dt} = \frac{2x}{t+1}$$

$$\frac{dx}{2x} = \frac{1}{t+1} dt$$

$$\int \frac{dx}{2x} = \int \frac{1}{t+1} dt$$

$$\frac{x^2}{4} = \ln(t+1) + C$$

$$O' = +1 \sqrt{t^2+1} \sec O$$

Solution

$$\frac{dO}{dt} = t \sqrt{t^2+1} \sec O$$

$$\frac{dO}{\sec O} = t(t^2+1) dt$$

$$\int \frac{dO}{\sec O} = \int t \sqrt{t^2+1} dt$$

$$\Rightarrow \sin O = \frac{(t^2+1)^{3/2}}{3} + C$$

A